R\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1-.8.dwg, FL-15213.4

I plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain

Rustic / Mahogany
Series Fiberglass Door

INSWING / OUTSWING
"IMPACT"

GENERAL NOTES

. This product has been evaluated and is in compliance with the 2010 Florida Building

Code (FBC) structural requirements excluding the "High Velocity Huricane Zone"
(HVHZ).

. Product anchors shall be as listed and spaced as shown on details. Anchor

embedment to base material shall be beyond wall dressing or stucco.

. When used in areas requiring wind bome debris protection this product complies

with Section 1609.1.2 of the FBC and does not require an impact resistant covering.
This product meets missile level "D" and includes Wind Zone 4 as defined in ASTM
E1996 and Section 1609.1.2.4 of the FBC. The sidelite must be protected with an
impact resistant covering that complies with Section 1609.1.2.

. For 2x stud framing construction, anchoring of these units shall be the same as that

shown for 2x buck masonry construction.

. Site conditions that deviate from the details of this drawing require further

engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

—

Typical elevation, design pressures, & general notes

Door panel details

52.75" MAX. OVERALL
FRAME WIDTH

37.50" MAX.

FRAME WIDTH

82.00" MAX. OVERALL FRAME HEIGHT- INSWING

80.37" MAX. OVERALL FRAME HEIGHT - OUTSWING

Sidelite panel details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

INSWING

52.75" x 82.00"

7.00" x 63.00"

Frame anchoring - 1X buck masonry construction

Wi |Njosfn || |N

Bill of materials, glazing detail & components

OUTSWING

52.75" x 80.37"

G1
7.00" x 63.00"

+50.0

15.25" MAX.
FRAME WIDTH

-50.0

2 ¢ Yo
. Sw ™ $
gm Ep N7
= ~ 3
.go b 0N g
- g V2
29
%8:»: ui
e - d
J5¢2 88 o
IS, 8 F =
- - 23 ]
%Dn"ét 2
,goagm;“ _E
v QX2 *
= m .
E5%ges
m_mn.n.mﬁ o
2 g%g 5
G st
Feg &
3
(7]
[+]
(=]
%)
i
Qg
of @
.S ‘33
(STe] -
Za| =Z=uw
A 23
20l SO
B B
Bl= 3
gn:u-ll.um
Lujj ¢ L
IOl Fo
. L 6:
3} ]
=1 Ol =0
8 g g
o
i &
&
")
=
O
wn
o
=
<
[mn]
(=]
=z

DaTE: 02,/16/12

SCALE:  N.T.S.

CHK. BY: LFS

DRAWING NO.:
FL—15213.4

SHEET _1 oF_9

© 2012 R.W. BUILDING CONSULTANTS INC.



TOME BAMVYIOINENOD OMITGTHRE "M B0 @

BOFPSE CON Ta %_Ecom ‘4 UOPLAT SNOISIAN
sz 2L SUVLIA TINVE H00G A8 AV JONI®Y o] X o)
cias roff uonbzuowiny 0 SIDSIEIMED S gL 2
sipeuibuy DUDBERICLY JO pJIDOE DRMOLY SATIWESSY MO dvd Mm b - - v
LBLE'BOY'CLE TON SUOUd HOOO SEYTOMAELS = g ZN
S8GEE 14 OJMDA OFT %08 O'd \Sﬁ@u N ONAISY T mwm BIE g
oMl CSINYEINSNGD SNIaTing . i M 1N it ks
A palpdeld siusWINDO LONandd & m % m &
£
Q
oz
Wl
o
iLi

/4

i
/i

/4

INTERIOR

/2 "\ VERTICAL CROSS SECTION

85“

W88

f

MGE & LATCH STHE

1.00° —=
4p 1k
24 Cediu

|

Reinforcement
HINGE & LATCH STRE
oy PYC

w
Wl T AT ;i IW
il

M”
ﬂ 2
B
. g
BLY
2 g
> 2
. -
; M =
& =
Ldw L. 8
O W O Y
& e 3
Lid L [ .
=AY i s :
N = b 10 05
| S Do il b
= = il L F
- 5 a, |2 [
o wlE
i/ el e S

s Gl

DOOR PANEL

35.75" MAX
DOOR
PANEL WIDTH

21

e —

e IHOEH BNV 3000 XYW ST°6, —=

7T DMpg-TETZST-1NOTOZ\SBuIMeI DEMY "A\8ST 4d\009T - T0ST fosd\siapiod pefoid\sioeloid - v\



DR ELNVATENGD BNOTUNE MY 2108 9

BOPSE ON H'] WPRUUDS ‘3 uopuky SNOICIAZY i

T2l AT SWVLIC TINVY LTS Ad SO ONTR ol o
188 on uvodbrpdEET 10 s0omuen : 3 = m_,.uw wm .
sipUibuT 1DUDIESSIONL 10 PIDOE DDLIOLS SATENISSY M0 Ledvd w M o
LBLEBETLR ON SUOU 000 S5YI9NIgH w,_x . g2 3_

GBSEE "I4 0OUIDA OFZ o8 “O'd \&g "ONI QHdISYId o] B E w m
ONE SINVIINSNOD ONIGINEG . i w SN Bre &
Ag paindedd BIUBLINSOQ CLONHICHd & m & m P

EXTERIOR
30

/4
/4
/7
7
/Y
w
1/
W

3
INTERIOR
1

72\ VERTICAL CROSS SECTION

_ SHGELITE STHE
’ Celdor PYC

b 85T -]

COMNTINUOUS SIDELTE STHE

<

e -

O G

47y ] [t

/i 8 £

Fevd 7 P g & &

'S O J &=

: | NG
1L (i m
= = S
e ' o)
/
= €
) m

Celluler PVC

@ SIDELITE TOP & BOTTOM BAIL

N o
Bwo
NS
=X o
: e
i =
N
5
)
5
w_ |
. b (®
M - THOEH 0T XYW 0069
20
N THOEH TNV IUTAIS XYW L7767

p'e BMpg-TETZST-1NOT0Z\SBUMEI DEMY "A\LSST 4d\009T - TOST foid\siap|04 108fosd\$128(04d - W\



1-1/4MIN. {2!
EMB. (TYP.) :
(39)SEE L LR
CE/NOTE 1 v a5 g0
' | dEo 8 2
Z8ag e . |
Sre el
30 ST ¢
f / EXTERIOR 589851 %
SEE - |
EXTERIOR 16 @i T PRaNE
=
. Q @ facise §
2 § 3 5
- g 5%
Pt g g G
a/ % !
' INTERIOR
\ 2
=
INTERIOR &
28 o
Uy
(4 "\ HORIZONTAL CROSS SECTION 2218 S
\_4_/ Inswing configuration /5 \ HORIZONTAL CROSS SECTION o
\_4_/ Shown wiTX sub-buck g e &
AT, (S S| 2
1-1/4" MIN, EMB. (TYP) |5 = B
EMB. (TYP.) & &
NOTE:
32 : 1. Sidelite panel secured fo the sidelite %
bl U S 015" frome with {4} of Hem #22 located
| . CSINK 1% 30.5% 51" and 71.5 from fop of
. B (TYP.] each jomb and {2) of tem #22 in
o . ' the head and sil 3" from each end ' '
P p— “r INTERIOR
&
e
il
INTERIOR Z
AR EXTERIOR
. (aaNSEE (37)
22) o X
<
S 12 &
T @ & :
T 018 | Z
CYINK i | wag: 02 16 /12
EXTERIOR ), e e
PG, B JK
CHE. By LFS
/1 "\ HORIZONTAL CROSS SECTION (2 "\ HORIZONTAL CROSS SECTION /3 ™\ HORIZONTAL CROSS SECTION DRAVIG o
‘%\ﬁ// géﬁés;gig é?ggn - Inswing \\f&/ Cuiswing configuration ‘\ﬁ/} gggyggg éésggn - inswing FiL— ; 21 3.;
shger 4 of G

RAA - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1-8.dwg, 4.4

@ 2OTE B.W. BULDING DONSULTANTE Mo,



TN SANVANEMNOD OMIGTUNE MR ELDE @

BOPEP "ON "' WPIMIUDS "o uopuk] SNDISIAEY
Lz AL T SNOILO3S SSOM0 Touia 28 Y JONIY o lo| o
186 "ON UDRDIMOWNY 4O 8IDOYRIeD - RS = o
ajeswBuy |OUCIBESICld O PIDOE DPLIO|Y KIENESEY MO Ldvd el . O &
L6LE6S9CLE TON BuSUd S000 857 1549814 N E g 0 sw
C6GCE "id OJIDA OCZ %o ‘O'd \w\bg "ONE OISV T S (E|Elg !
DHI SINYLINSHNGD ONIGING . o m 1 iy I
AR pasodeld SIUBWNDO0 LN O AR m 5 m &
{"dAL} 83
NIW F/ -
ARV -

(074
Q
[
= =
e 2 &)
= L
i [IX
= = ol
AN e
= 0o
| & L
&, U2
L] & anad m
e S < L]
o J
i Re] i
Ul 2 & &3
] ot @ w o
| A ~
! S IES e g
| E|E 0 @5
O w2
& N b
118
T
8 (o)
CdAtl aws _|
NIW #7101
- i (dAL) g
NIW b/ 11
. 7 {'dAl]
= NSO

S0

]

(a4 e
o = ) >
e 6] e Y]
R At =
S Qo = &I
e By & &= L o~
il ol
ol =
e <
- Yoe Wi
ey mnd
Il {4 pipes
m.ﬂp 1t
Bles B
g SI8E Si3
£
Q @ @) ™
v N = 3@
Lid LLE
e e
i3 Li
{"dAl) awa |
NI 7/ 1]

p'S BMpE-TETZST-TNOTOTSBUIMeId Damy "Q\L8ST 4d\009T - TOST fordhsiopiod efoid\spafold - vAy



1-1/4" MiN.
EMB, (TYP.)

EXTERIOR ’ INTERIOR

1\ VERTICAL CROSS SECTION
W Outswing shown - inswing

also approved

EXTERIOR INTERIOR

SEE /-
NOTE 1

T

o - i -

4 . . K g

Soa a’ '
. .

m VERTICAL CROSS SECTION
\\é // Oulswing configuration

1-1/4" MIN
EMB. (TYP.)

T-1/4" MIN.
EMB. (TYP.)

Z/’?afzm,m

. Schmidt, P.E, No. 43409

i
e &
.&5’5 g
O L&
z & X
= P [
_E &
e,
g.ag82
e T
Zom ¢ ,
= L 0 Dy
S BEE F 9% 4
o 69"6
T2 98
Z om [~
s 03Iy
'ﬁkUN-:ﬁ-c
g @52 8N
l_“mw-pcs- N
5 5 cE8
G = 0 0@
ERofag
o B
€2
8 §35~3
[ T
@ oy
3
o
[}
&

EXTERIOR INTERIOR
NOTE:
i. Sidelife panel secured fo the sidelite m VERTICAL CROSS SECTION
frame with (4] of iflem #22 located \_&_/ Shown w/1X sub-buck
¥, 30.5" 51" and 715" from top of
each jarmb and {2} of itemn #22in
the heod and sill 3° from each end
EXTERIOR INTERIOR

Pi-1/4" MIN,
EMB. (TYP.]

PLASTPRO INC
FIBERGIASS DOOR

PART OR ASSEMBLY:
VERTICAL CROSS SECTIONS

PRODUCT:

BY

¥

/& "\ VERTICAL CROSS SECTION

NOJ  DATE

oate: 02 /16/12

scalE:  NLT.5.

G, By JK

CHIC B LFS

‘\é /} Inswing configuration

DRAWING HO.:
FL-15213.4

sSHEEY 6 oF G

R:AA - Projects\Project Folders\proj 1501 -~ 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1-.8.dwg, 6.4

{e]4]

Lyned

REVISIONS

€ B0 E BW. BULDING DQONBULTANTS [ME.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1-.8.dwg, 7.4

4;1
F R B N
) N T T
[ "' .“ - é...,‘. 4
T R e« 4. a

i

TYP. HEAD & JAMBS

hi

| IEI |
It
Ii
If
Il
i
Il

i

R

7.46"

-

19" MAX
OMN CENTER

71.96"
[-*——-———— 40.717"

BUCK
Il
- { -5 A
MULLION SHOWN Il
FOR REFERENCE \Il
ONLY
MASONRY l
OPENING i )
=S I
NS Il
) Il : &R m
S i
L H e
-, 'd;a," ‘f‘ﬂ, ' -6. - “', h‘,-
.. S 4 « .o
e . .. . 4
BUCK ANCHORING HINGE JAMB
CONCRETE ANCHOR NOTES:

i. Substitution of equal concrete anchors from o different supplisr moy have different edge

disfance and center disfonce requiremenits.

Z. Concrete anchor focations at the comers may be adjusted 1o maintain the min. edge
disfance o morfar joinds. If concrete anchor locations noted s "MAX. OGN CENTER” must be
adiusted fo mainiain the min. edge distance fo mortar joints, additional concrete onchors
may be required io ensure the "MAX, ON CENTER" dirmensions are not exceedsd,

3 Concrete o

nchor foble:

i-1/4"

237

3&’5

1-1/&

‘i??

%ﬂ‘?

| it enn 3"

17.5" MAX
O CENTER

FRAME
|

2X
BUCK

MASONRY
OPENING “\.}\w

TYP. HEAD &

2\ INSWING
TYP. @ SiL

12 MAX
ON CENTER

6“

J

!““— 24 MAX O.C, m"m'-l

FRAME ANCHORING

kMasorey ZX buck consiruction

y%i

-

32

STRIKE JAMB

/4
#

SIRIKE PLATE DETAIL

A
N

813.658.2197

Box 230 Valrico FlL. 33545
lyndon F. Schmidt, P.E. Ne. 43408

BLHLDING CONSULTANTS, INC.

Phone No.:
Floride Boord of Professional Engineers

PO,

3
b
&
o
u‘_‘
=%
- §
L
s
7]
&
&=
el
=
<%
s
£
@
B
o
&
i
¥
&
£

Decuments Prepared By

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
BUCK & FRAME ANCHORING

PRODUCT:

BY 19X BUCK MASONRY CONSTRUCTION

REVISIONS

NOY DATE

oate: 02/ 16/12

AL NT.LG,

WG, BY: N4

CHE. &Y LFS

DRAWING NO.:
FL-15213.4

suEer 7 oF 9

[WI-To S X-2-1 VA FEE s 2uEn S TIOTNERI B TARTA Fasir



RivA - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1- 8.dwg, 8.4

3!1

SN

L‘*‘ 24" MAX O.C, —Wf

- é g
Ei =
. o8
[
- —~
R
= .
TYP, HEAD & JAMBS -
:
i~
. 5
E } . 3 Z5.
] . b :é 6
FRAME—\ — %
1% 1
BUCK -
OUTSWING
o MASONRY
OPENING xﬁ«/
- IMSWING —
o P.@ SILL
TS .
& & - .
= i 8 PN . s "
47 e
P ¥ hl T l-.é;\\
HINGE JAMB FRAME ANCHORING
CONCRETE ANCHOR NOTES: Masonry T buck construction

1. Substitution of equdl concrete anchors from a different supplier may have different edge
distance and center disfonce requirements.

2. Concrete ancher locations of the comers may be adiusted fo mointain the min. edge
distance o morfar joints. If concrete anchor locations notfed as "MAX, ON CENTER" must be
adijusted to malntain the min. edge distance 1o rmortar joints, additional concrefe anchors
may be required o ensure the "MAX, ON CENTER” dimensions are not exceeded,

3. Concrete anchor fabis:

W 14" §-1/4" -1/ K

ITw 316" §-1/4" 2.5/8" 2.5/

3

| | HINGE JAMR
Ty
E Y
;} 7)) INSWING
(29 |,
, N7 @)oo

@ N1 INSWING

/i (38) OUTSWING
L / .

STRIEE PLATE DETAL
STRIKE JAME

L Sy

k4
-
A
i
g W
.ﬁ% \
gEm ES s
z X4 ¥
_ig‘: .
R 2
ggggzm
< . J i
HEE 2 8ihe
o0 88l
Zoo 5E T
o O K3 =g E
E SIS BT
| 1) §rs £
g%éz 02 )
g9, 2%5
8 258 B
PRatag &
o B B
o2 £
8 § B £ ey
£ T P
8 Q@
P &
3
[+
&
(=]
=
Cy
=
[
&
2 b
S 2B
[T e =
=i [l
ol B
2015 X
A It <=
E'—-(_DE
2eh 43
Lok ¢ =£
Em 3=
. L, L
?5 i 0
=, [a [
= pu
I
il o b
s
i
I
=
<
v
e
1
<
3
[
=
oare: 02 /16,12
scak: NTS,
CHEL BY: LFS
DRANNG NG
FL-—-15213.4

sueEET 8 oF 9

© 2112 RW. BiiLoing DONSULTANTS MO,



A - Projects\Project Folders\proj 1501 - 1600VF 1587\D, RWBC Drawings\2010\FL-15213.1-.8.dwg, 9.4

BILL OF MATERIALS
ITEM] DESCRIPTION MATERIAL
;| MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
2| 1XBUCKSG >=0.55 WOQD
3| 2XBUCK SG >=0.55 WOOD
4_| 174" MAX_SHIM SPACE -
5 | 1/4"X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
& | #10x2.1/2° PFH WOOD SCREW STEEL
7| 1/4"x2-1/4"PFH TW CONCRETE SCREW STEEL
8 | #9 x 3/4" PFH WOOD SCREW STEEL
9 | DOOR SKIN (MiN. 0.075" THICK] FIBERGLASS
10| INSWING VINYL DOOR BOTIOM SWEEP BY ENDURA VINYL
10A | VINYL DOOR BOTTOM SWEEP #3428 BY HOLM IND, VINYL
71| RENFORCEMENT WOOD FOR LOCK WOOD
12_| INGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
T3 | #9 X 2-1/4 PFH WOOD SCREW STEEL
14_| BOTIOM RAIL CELLULAR PVC
15 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
15A | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
16 | FORCE 5 WEATHER STRIPPING BY ENDURA FOAM
16A | COMPRESSION WEATHER STRIP GLON 650 BY SCHLEGEL FOAM
17T KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL
18 | KWIKSET DEADBOLT - SIGNATURE SERIES (780} STEEL
19 | CONTINUOUS SIDELITE STILE REINF. WOOD
20_| POLYURETHANE FOAM BY NANYA POLYURETHANE
21 | 4" x 4 BUTTHINGE STEEL
22_| #8x 2’ PFH WOOD SCREW STEEL
24 | FINGE & LATCH STLE CELLULAR PVC
25 | TOP RAL CELLULAR PVC
26 | SIDELITE STIE CELLULAR FVC
27 | STRIKE PLATE STEEL
28 | OUTSWING BUMP THRESHOLD ALUM, / WOOD
29 | DEADBOLT STRIKE PLATE STEEL
30 | LIP LITE ODL/WESTERN REFLECTIONS HP POLYPROPYLENE
31 | #5 % 1" PFH WOOD SCREW STEEL
32 | 1/4" X 3-3/4" PFH [TW CONCRETE SCREW STEEL
33_| SIDELITE TOP & BOTTIOM RAIL CELLULAR PVC
34 | SHOE MOULD 5/8"x 3/8" WOOD
35_| GLAZING COMPOUND SILICONE
36 | #Bx 1-1/2" PFH LITE FRAME SCREW STEEL
37 | SEALANT SILICONE
38 | #9x 2" PFH WOOD SCREW STEEL
39| SIDELITE SPACER PVC
40| HINGE & LATCH STILE REINFORCEMENT LVL
41 | GLAZING SPACER ALUM.
42 | 1/4' x 3-1/4" PFr ITW CONCRETE SCREW STEEL
43 | /4" x 2-3/4" PFrl TW CONCRETE SCREW STEEL
50 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
60_| SIDELITE PANEL - SEE DOOR PANEL DETAIL SHEET 3 -

5.62"

ADIUSTABLE INSWING SILL

S GLASS BITE .

37

'Ekz’!i!

R .1

28 QUTSWING BUMP THRESHOLD

—————— e

=

e 2.43° ._,...I

(12) S8

g

‘iﬁg) GLATING DETAIL

GLASS THEK.

1/8% TEMP.
/ GLASS

AR
SPACE

o
%x OPTIONAL

DECORATIVE INSERT

AR

\ SPACE
1/8" TEMP.

GLASS

506

1.000" NOM.

39} SIDELITE 2PALCER

] e 75

L e

Mo, 2813
Lyndon F. Schmidt, P.E. No. 43408

P.O. Box 230 Valrlco FL. 33585
therization

BUILDING COMSULTANTS, INC.
Phong No.: 813.652.8187
Florida Beord of Professional Enginesers

Certificate OF

Ry

Docurnents Prepared By:

[0S
=0
N
q=
.% cs'-zz«i
(S Te I
=0 ng
.., L=
SO ER
S
mfb = < ol
[ Y
g b =
Eme w =
N b, OE
) £
2 Of &
=l &
&2 %
[2 8 =38
S
)
7
=
<
5
ol
&
b
<%
O3
o
=
baTE: 02 /16/12
SCALE: NT.S,
NG, B JK
cHI, BY: LFS
DRESING N0
Fi—15213.4

SHEET 9 oF 8

@ TR BV, BULDING DONSULTANTE IND.



